
(1)VIII-mathematics

class (d{kk) % VIII
mathematics

(xf.kr)
(Summative Assessment - II)
(ladyukRed ewY;kadu & II)

Time : 3 Hrs.		  Maximum Marks : 90
fuèkkZfjr le; % 3 ?kaVs			   vfèkdre vad % 90
General Instructions :
1.	 The question paper consists of four sections - A, B, C and D. Section - A consists of 8 questions  
	 of 1 mark each; Section - B consists of 6 questions of 2 marks each; Section - C consists of 10  
	 questions of 3 marks each and Section - D consists of 10 questions of 4 marks each. Question  
	 No. 1 to 8 are Multiple Choice Questions where you are to select only one correct option out  
	 of four given options.
2.	 All questions are compulsory.
3.	 In questions of construction, the drawing should be neat and clean and exactly as per the  
	 given measurements. Use ruler and campass only.
4.	 There is no overall choice. However, internal choices have been given in some questions.  
	 Attempt any one question in such cases.
5.	 Write the correct question number before attempting the question.

lkekU; funsZ'k %
1-	 bl iz'u i=k ds pkj [k.M gSa & v] c] l vkSj nA [k.M&v esa 8 iz'u gSa ftuesa izR;sd dk 1 vad  
	 gSA [k.M&c esa 6 iz'u gSa ftuesa izR;sd ds 2 vad gSaA [k.M&l esa 10 iz'u gSa ftuesa izR;sd ds 3 vad  
	 gSa rFkk [k.M&n esa 10 iz'u gSa ftueas izR;sd ds 4 vad gSA iz'u la[;k 1 ls 8 rd cgqfodYih iz'u gSa  
	 tgk¡ vkidks fn, x, pkj fodYiksa esa ls ,d lgh fodYi pquuk gSA
2-	 lHkh iz'u vfuok;Z gSaA
3-	 jpuk ds iz'uksa esa] jpuk LoPN rFkk Bhd gksuh pkfg,] tks fd fn, x, ekiksa ds vuq#i gksA osQoy iqQVs  
	 rFkk ijdkj dk iz;ksx djsaA
4-	 iz'u i=k ds dqN iz'uksa esa dsoy vakrfjd fodYi fn;s x;s gSaA ;gk¡ nksuksa eas ls ,d iz'u gy dhft,A
5-	 fdlh iz'u dks gy djus ls igys mldk lgh Øekad fyf[k,A

Roll No. (vuqØekad) ------------------------------			  Code (dwV la-) % 820154-SA2(M)

Please check that this question 
paper contains 34 questions 
and 8 printed pages.
Ñi;k tk¡p dj ys a fd bl 
iz'u&i=k esa 34 iz'u rFkk 8 Nis 
gq, i`"B gSaA

section - 'a' ([kaM&^v*) 

1.	 If 
2

2 3 81
3 2 16

x x
    =   
   

, then the value of x is : 	

	 ;fn 
2

2 3 81
3 2 16

x x
    =   
   

 gS] rks x dk eku gS & 	  

(a)	 2		  (b)	 4	 (c)	 –1		  (d)	 3
2

2.	 The degree of the polynomial ( )3
1

2
x× −  is :	  

cgqin ( )3
1

2
x× −  dh ?kkr gS &	  

(a)	 0		  (b)	 2	 (c)	 1		  (d)	 –1

1

1
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3.	 2 1
5

2
x x+ −  is a 		   
(a)	 quadratic polynomial in x	 (b)	 binomial		   
(c)	 monomial			   (d)	 cubic polynomial in x	  

2 1
5

2
x x+ −  gS ,d &						    
(a)	 x esa f}?kkr cgqin		  (b)	 f}in				     
(c)	 ,dinh		  	 (d)	 x esa f=k?kkrh cgqin

4.	 The volume of a cylinder whose radius r is equal to its height is	  
,d csyu ftldh f=kT;k r  bldh ÅapkbZ ds leku gS] dk vk;ru gS &	 
(a)	 	 (b)	 	 (c)	 		  (d)	

5.	 If the vertices of a polyhedron are 4 and edges are 10, then its number of faces  
will be  						       
vxj ,d cgqiQyd ds 'kh"kZ 4 gS vkSj fdukjs 10 gS] rc blds iQydksa dh la[;k gksxh&	 
(a)	 6		  (b)	 8	 (c)	 5		  (d)	 7

6.	 The height of cubiod whose volume is 200 cm3 and base area is 20 cm2 is 	  
,d ?kukHk ftldk vk;ru 200 cm3 vkSj vkèkkj dk {ks=kiQy 20 oxZ ls-eh- gS] dh  
ÅapkbZ gS&			   
(a)	 220 ls-eh-	 (b)	 100 ls-eh-	 (c)	 10 ls-eh-	 (d)	 20 ls-eh-

7.	 The order of rotation of English alphabet 'S' is	 
vaxzsth o.kZekyk esa 'S' ds ?kw.kZu dk Øe gS &	  
(a)	 1		  (b)	 3	 (c)	 2		  (d)	 4

8.	 The angle of rotation of an equilateral triangle is :	  
,d leckgq f=kHkqt dk ?kw.kZu dks.k gS &	  
(a)	 1200		  (b)	 600	 (c)	 1800		  (d)	 900

section - 'b' ([kaM&^c*) 

9.	 Simplify :  (ljy dhft,) % 
1

5
202 1

9 3 5
81

−

 − × −  
 

10.	 If 3x = 81, then find the value of 3x– 6.	  

;fn 3x = 81  gS rks 3x– 6  dk eku Kkr dhft,A

1

1

1

2

1

1

1

2
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11.	 The population of a village is 24000. It is increasing at the rate of 5% 

every year. What will be the increase or growth in population after 3 years?	 

,d xk¡o dh tula[;k 24000 gSA blesa izfr o"kZ 5% dh nj ls o`f¼ gks jgh gSA 3 lky 

ds ckn tula[;k esa fdruh o`f¼ gksxh\

12.	 Two numbers are in the ratio 3 : 4; When 8 is subtracted from each, the ratio  

becomes 2 : 3. Find the numbers.								      

nks la[;kvksa esa vuqikr 3 % 4 gSA tc izR;sd esa ls 8 dks ?kVk;k] rks vuqikr 2 % 3 gks 

tkrk gSA la[;kvksa dks Kkr dhft,A

OR (vFkok)

	 Solve the following equation :	  

fuEufyf[kr lehdj.k dks gy dhft, &

13.	 Two adjacent angles of a parallelogram are (3x – 4)0 and (3x + 16)0. Find the value 

of x and hence find the measure of all the angles of the parallelogram.		

fdlh lekarj prqHkqZt ds nks vklUu dks.k (3x – 4)0  vkSj (3x + 16)0   gSA x  dk eku Kkr 

dhft, vr% lekarj prqHkqZt ds lHkh dks.kksa dh eki Kkr dhft,A

14.	 Write the order of rotation and the angle of rotation for a rectangle.			 

,d vk;r dk ?kw.kZu Øe vkSj ?kw.kZu dks.k fyf[k,A

section - 'c' ([kaM&^l*)

15.	 Simplify : (ljy dhft,)	 

			 

1
3 41 1

3 39 64 125
  
 + 
   

16.	 What amount is to be repaid on a loan of  `12,000 for 1½ years at 10% per annum 

compounded half yearly?								      

;fn C;kt dk la;kstu v/Zokf"kZd gksrk gS rks 1½ o"kZ ds fy, 10% okf"kZd nj ij m/kj 

fy, x, `12]000 ds d”kZ dk Hkqxrku djus ds fy, fdruh jkf'k nsuh iM+sxhA

2

2

2

3

3

2

2
1 53

1 3
4

x

x

+
=

+

2
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OR (vFkok)

	 Find the compound interest on ̀  12,600 for 2 years at 10% per annum compounded 

annually.											         

`12]600 dk 2 o"kZ ds fy, 10% okf"kZd nj ls pØo`f¼ C;kt Kkr dhft, tcfd C;kt 

okf"kZd la;ksftr gksrk gSA

17.	 The compound interest of ` 20,000 at 10% per annum compounded annually for 

a certain period of time is ` 4200. Find the time.					      

le; dh ,d fuf'pr vof/ ds fy;s `20]000 ij 10% izfro"kZ dh nj ls pØo`f¼ 

C;kt `4200 gS tcfd C;kt okf"kZd la;ksftr gksrk gSA le; Kkr dhft,A

18.	 The difference between the compound interest compounded annually and the 

simple interest on a certain sum for 2 years at 10% per annum is ` 300. Find the 

sum.											           

fdlh jkf'k ij 2 o"kZ ds fy, 10% okf"kZd nj ls pØo`f¼ C;kt tks fd okf"kZd la;ksftr 

gksrk gS] vkSj lk/kj.k C;kt dk varj ` 300 gSA jkf'k Kkr dhft,A

19.	 Find quotient and remainder when polynomial 4x3 – 3x2 + 2x – 4 is divided by x+1. 

cgqin 4x3 – 3x2 + 2x – 4  dks x+1 ls Hkkx djus ij] HkkxiQy vkSj 'ks"kiQy Kkr dhft,A

OR (vFkok)

	 Using long division method, show that (3x + 2) is a factor of the polynomial  

11x + 20x2 + 12x3 + 2.								      

Hkkx dh fof/ ls n'kkZb, fd (3x + 2) cgqin 11x + 20x2 + 12x3 + 2 dk ,d 

xq.ku[kaM gSA

20.	 Divide		   

(a)	 2 4125 25y y+  by 25y  	  

(b)	 4 3 22 2 4 2q q q+ +  by ( )22 2q− 						       

(a)	 2 4125 25y y+  dks 25y  ls Hkkx nhft,A	  

(b)	 4 3 22 2 4 2q q q+ +  dks  ( )22 2q−   ls Hkkx nhft,A

3

3

3

3

3

3
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21.	 Solve the following equation : (fuEufyf[kr lehdj.k dks gy dhft,)	

					  
( ) ( )2 3 5 7 8

6 11 15

x x

x

+ − −
=

+

22.	 Divide 243 into 3 parts such that half of the first part, one-third of the second 

part and one-fourth of the third part are all equal.					      

243 dks 3 Hkkxksa esa bl rjg ls foHkkftr djsa fd igys Hkkx dk vk/k] nwljs Hkkx dk 

,d&frgkbZ vkSj rhljs Hkkx dk ,d&pkSFkkbZ] lc cjkcj gSA

23.	 Construct a quadrilateral ABCD in which AB=4.2 cm, BC=6 cm, CD=5.2 cm,  

DA=5 cm and diagonal AC=8 cm.						       

,d prqHk q Zt ABCD  dh jpuk dhft, ftles a AB=4.2 ls-eh-] BC=6 ls-eh-]  

CD=5.2 ls-eh-] DA=5 ls-eh- vkSj fod.kZ AC=8 ls-eh- gSA

	 Alternative question for visually challenged student in lieu of Q. No. 23.	  

ç- la- 23 ds LFkku ij n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'u	  

Solve the following equation : (fuEufyf[kr lehdj.k dks gy dhft,)  

						   
2 5 3
5 2 22
k

k

−
=

+

24.	 A field is in the shape of a trapezium whose perimeter is 104 m. Its non-parallel 

sides are 18m and 22m its altitude is 16m. and one parallel side is 6m longer than 

the other. Find the lengths of two parallel sides and hence find the area of the 

trapezium.									          

leyEc ds vkdkj ds ,d [ksr dk ifjeki 104 ehVj gSA bldh vleku Hkqtk;sa 18 ehVj 

o 22 ehVj dh gS vkSj lekukarj Hkqtkvksa ds chp dh nwjh 16 ehVj gS rFkk ,d lekarj 

Hkqtk] nwljh ls 6 ehVj yach gSA lekarj Hkqtkvksa dh yackb;k Kkr dhft,] vr% leyEc 

dk {ks=kiQy Kkr dhft,A

OR (vFkok)

	 In a building there are 24 cylindrical pillars. The radius of each pillar 

i s  28cm and height  i s  4m.  F ind the  tota l  cost  of  paint ing the 

curved surface area of all pillars at the rate of ` 8 per m2.	   

3

3

3

3

3
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,d Hkou esa 24 csyukdkj [kaHks gSaA izR;sd [kaHks dh f=kT;k 28 ls-eh- vkSj Å¡pkbZ 4 ehVj 

gSA 8 #i;s izfr oxZ ehVj dh nj ls lHkh [kaHkksa ds oØ i`"B ij isaV djkus dk O;; Kkr 

dhft,A

section - 'd' ([kaM&^n*)

25.	 Find the value of  (eku Kkr dhft,)	  

	 ( ) ( ) ( )
3 5 2
5 9 3

2 4 5

243 512 125
− − −+ −

OR (vFkok)

		 Find the value : (eku Kkr dhft,) % 
1 1 3

2 2 24 0.81 0.81 0.81
−  

× + 
 

26.	 Pooja started a business by investing `2,00,000. During the first three successive 

years, she earned a profit of 5%, 8% and 12% per annum respectively. If in each 

year, the profit was added on the capital at the end of the previous year, calculate 

her total profit after 3 years which she donated to an old age home. Which value 

is being reflected by her action?							        

iwtk us 2]00]000 #i, fuos'k djds ,d O;kikj 'kq: fd;kA igys yxkrkj rhu o"kks± ds 

nkSjku] mlus Øe'k% 5%] 8%] 12% okf"kZd nj ls ykHk vftZr fd;kA vxj izR;sd o"kZ 

esa] ykHk fiNys o"kZ ds var dh iwath esa tksM+k x;k gS] rks 3 o"kks± ds ckn mldk dqy 

ykHk Kkr dhft,] tks fd mlus ,d o`¼kJe esa nku ns fn;kA mlds bl dk;Z ls dkSu 

lk thou ewY; iznf'kZr gksrk gS\

27.	 Divide   6x3 + 19x2 + 13x – 3 by 2x + 3. Hence verify the result.				  

6x3 + 19x2 + 13x – 3 dks 2x + 3  ls Hkkx nhft,A vr% vius mÙkj dk lR;kiu dhft,A

28.	 The perimeter of a rectangle is 240 cm. If its length is decreased by 10% and its 

breadth is increased by 20%, we get the same perimeter. Find the length and the 

breadth of the rectangle.								        

,d vk;r dk ifjeki 240 ls-eh- gSA ;fn bldh yackbZ 10% ?kVk nh tkrh gS vkSj pkSM+kbZ 

20% c<+k nh tkrh gS] rks gesa leku ifjeki izkIr gksrk gSA vk;r dh yackbZ o pkSM+kbZ 

Kkr dhft,A

4

4

4

4
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OR (vFkok)

	 Lakshmi is a cashier in a bank. She has currency notes of denominations `100, `50 

and `10, in the ratio 2 : 3 : 5. The total cash with Lakshmi is 4,00,000. How many 

notes of each denomination does she have?						       

y{eh ,d cSad esa [ktkaph gSA mlds ikl uxnh ds :i esa 100 #i;s] 50 #i;s o 10 
#i;s okys uksV 2 % 3 % 5 ds vuqikr esa gSa vkSj mudk dqy ewY; 4]00]000 #i;s gSA 
mlds ikl izR;sd izdkj ds fdrus&fdrus uksV gSa\

29.	 ABCD is a quadrilateral in which AB = CD and AD = BC. Show that it is a 

parallelogram.									          

ABCD ,d prqHkqZt gS ftlesa AB = CD vkSj AD = BC  gSA fn[kkb;s fd ;g ,d lekarj 
prqHkqZt gSA

30.	 PQRS is a rectangle. The perpendicular ST from S on PR divides S∠  is the ratio  

2 : 3. Find TPQ∠ .								         

PQRS ,d vk;r gSA 'kh"kZ S  ls PR ij yEc ST] S∠   dks 2 % 3 ds vuqikr esa foHkkftr 
djrk gSA TPQ∠  Kkr dhft,A

31.	 The diagonals of a rhombus are in the ratio 3 : 4. If its perimeter is 40 cm, find 

the lengths of the sides and diagonals of the rhombus.					      

,d leprqHkqZt esa] fod.kks± dk vuqikr 3 % 4 gSA ;fn bldh ifjeki 40 ls-eh- gS] rks 
leprqHkqZt dh Hkqtkvksa o fod.kks± dh yEckbZ;k¡ Kkr dhft,A

32.	 Using ruler and compasses, construct a quadrilateral ABCD in which AB = 4 cm,  

BC = 5 cm, CD = 4.5 cm and 060B∠ = , 0135C∠ = .						    

:yj vkSj ijdkj dh lgk;rk ls ,d prqHkqZt ABCD dh jpuk djsa ftlesa AB = 4 ls-eh-] 
BC = 5 ls-eh-] CD = 4.5 ls-eh- rFkk 060B∠ = , 0135C∠ =   gSA

	 Alternative question for visually challenged student in lieu of Q. No. 32.	  

ç- la- 32 ds LFkku ij n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'u	 

The radius and height of a cylinder are in the ratio 5 : 7 and its volume is 550 cm3. 

Find its radius and height.		

	 ,d csyu dh f=kT;k rFkk Å¡pkbZ esa vuqikr 5 % 7 gSA ;fn csyu dk vk;ru 550 ?ku 

ls-eh- gS rks bldh f=kT;k vkSj Å¡pkbZ Kkr dhft,A

4

4

4

4
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33.	 A cube of side 5 cm is cut into as many 1cm cubes as possible. What is the ratio of 

the surface area of the original cube to that of the sum of the surface areas of the 

smaller cubes?  	

	 fdlh ?ku dh ,d Hkqtk 5 ls-eh- gSA bls 1 ls-eh- Hkqtk okys vf/d ls vf/d laHko 

?kuksa esa dkVk tkrk gSA ewy ?ku ds i`"Bh; {ks=kiQy vkSj NksVs ?kuksa ds i`"Bh; {ks=kiQyksa ds 

;ksx dk vuqikr Kkr dhft,A

34.	 An aquarium is in the form of a cuboid whose length, breadth and height 

are 80 cm, 30 cm and 40 cm respectively. Its faces are to be covered with 

a coloured paper, except the front and the top face. Find the area of the 

paper needed.									          

,d eNyh?kj ?kukHk ds vkdkj dk gS ftldh yackbZ] pkSM+kbZ rFkk Å¡pkbZ] Øe'k%  

80 ls-eh-] 30 ls-eh- rFkk 40 ls-eh- gSA blds lkeus okys rFkk Åij okys iQydksa dks 

NksM+dj ckdh iQydksa dks jaxhu dkx”k ls <duk gSA vko';d dkx”k dk {ks=kiQy Kkr 

dhft,A

4

4


